H & 0l & AHS B Ml A

SN ABHEEAIRIA
B GEALI SRS A (BY/NGAE - 23)
SI9: BAIIZAIM 2 (FEINH SH3IH) (el me
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% MinEs)
AT AIE A 11,227,634 6,502,272 4,725,362
= 2,079,000
J| 81,540
< 270,550
Al 8,796,544
Ss2ALH =AEAE M (SHE/ASEE - =) 2,318,375 2,058,024 260,351
= 634,000
J| 81,540
Al 1,602,835
SHAEI|ZANE A (FEME SL3IH) 2,318,375 2,058,024 260,351
= 634,000
J| 81,540
Al 1,602,835
olESYNel Y 22| 538,554 528,673 9,831
101 21| 20,945 0 20,945
M JI2tH22sSES 20,945 0 20,945
=0 A 20,945 0 20,945
OFAEA S &HHEH| 20,945
SR = 9,620&*6A| 2+*12 %260 15,008
oFFH 57, 720& x1H 52 3,002
od Xt 57, 7203 x 111 635
o 2HAH| 5,000& * 12 %260 1,300
oHAESIH| 500,000& * 124 %23| 1,000
201 LEL2AH| 491,985 493,385 A 1,400
01 AF22t2lt] 59,610 59,680 A70
=0l & 59,610 59,680 A70
SECEERS 57,840
oz 60,0002 <2 *1172) 14,040
o=xl 60,0002 x22H *3652 43,800
ORIAHHIAIAE SXI2el
110,000& = 12& 1,320
OZ2LMA EX dHEB(SES 490) 450
2 B232g| 432,375 433,705 1,330
=0 A 432,375 433,705 A 1,330
O3322 % MA 410,775
oMIIR= 32,000,000« 12& 384,000
oMGIEERS 200,000& 128 2,400
oIJIAANEE 200,000« 128 2,400
o XS XAl 100, 0002 *3CH 300
oSt HIIZAL =22
25,0002 *3CH 75
o(CTV &SN AIES 100,000& = 12& 1,200
oMJ|otM e | E A 1,700,000& = 12& 20,400
OdEH| 900,000 x5 4,500




S ABIEEAIA
B US2ad| ARE A (BT/AGSE - 2T)
Cigl: BHIIEAIM 2 (LETWE SZaH) (cr9l: &g
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
OXt&s= X d] 250,000 *x3CH*12& 9,000
OAFEEH == 2,000,000& 43| 8,000
OrSPIPIES ==l 100,000& *13] 100
202 01t 4,224 3,888 336
01 2UI0HH] 4,204 3,888 3%
=20 4 4,224 3,888 336
OstaxI2l YL
88,000& *4H x2 L *x63] 4,224
204 2R AH| 11,400 11,400
03 EHHIFAHI 11,400 11,400
S0 A 11,400 11,400
OtolesH| 50,0002 x19Y x 12& 11,400
401 Al&HILL0HY| 10,000 20,000 10,000
01 Al&H] 10,000 20,000 A 10,000
S0 A 10,000 20,000 10,000
OAFE A BAF L F=HAIA HH| 10,000
ol=MIHD| | X 255,283 289,276 A33,993
201 LB AH| 255,283 289,276 A33,993
01 AtR2teldl 78,311 84,572 NG,261
=0 A 78,311 84,572 NG,261
Odt=MIAD| & E&2 2eHHEsS 78,311
o ok=MIIHD| 21,290& 3,000 63,870
oy&= 41,26021x350& 14,441
02 B32gH| 176,972 204,704 NPT, 732
S0 A 176,972 204,704 NPT, 732
Odt==MIHD| & &= HIIHE 22 40,772
Odt==MIHD| &L S&E= 28+ AIMAHA
g9 2,200
Odt=MIHI| Ml =22
40,000& *3,000& 120,000
O8&EZ2 Hel=£2 40,0002/ *x350& 14,000
Zxcl AlE EH| 372,234 320,875 51,359
201 LBL2Ab| 276,234 106,875 169,359
01 AF22telb] 39,650 39,650 0
S0 A 39,650 39,650 0
Ox=XelAld 23| 38,000
oot elAld EAMNX(HER) =4
4,000,000& *1CH*43] 16,000
oZH|YUXH|(=EE2HE X} S) 20,000
oHTUH(EHAHL)HIIEE =2
2,000,000 =1CH 2,000
O%=xcl Al8 &EH| 2822 3¢
150,000& * 11 1,650
02 S=5249H| 236,584 67,225 169,359
S0 A 236,584 67,225 169,359
Of=XelAld AIZZ&H] |XI 67,225




S ABIEEAIA
B US2ad| ARE A (BT/AGSE - 2T)
Crelr BADIEAIM 29 (FENE SHIIH) (el me
S - BB BR(31) - NSAY - BES S SR b=
ools Y 2RXelAld X2 (1314) 42,000
oMI| & H=4Hl SA22 15,000
o AHEIA TIHI| £=I1H|
253 %125,0002| & 3,125
o&AH| AZE FU LA 7,100
OAFHEAIE JI=TCE HIS 61,996
oot X 2l A& (30,000m* /L) 34,225
o2 XelAlE(8m /L) 27,771
O33otHelAld J=dH HIg 107,363
oots=X 2l A& (30,000m® /<) 73,282
o2 XelAl&(8m® /) 34,081
206 M ZH| 64,000 24,000 40,000
01 M=l 64,000 24,000 40,000
20l & 64,000 24,000 40,000
O+HM2IAL |xBE W27 64,000
SBI o M)IZAY, HSHH W2 24,000
CBENAY HZII(00) HA T
5,000,000 *8IH 40,000
401 AIEHIL 20| 32,000 190,000 A 158,000
01 Al&H| 32,000 190,000 A 158,000
=0 A 32,000 190,000 A 158,000
OdtXel & A2 Eb| 32,000
cUAHds HIES 20,000
oalGHED| HI| et E A 12,000
NHMEHE &858 29 25,000 48,000 A23,000
201 et Y| 5,000 8,000 A3,000
01 AtS2teltl 5,000 8,000 A3,000
=0 A 5,000 8,000 A3,000
OXNHMEIHE stsd 22 5,000
206 M ZH| 20,000 40,000 220,000
01 M=l 20,000 40,000 A20,000
=0 A 20,000 40,000 220,000
OXHstEE 2 M 20,000
oz=% 90| € RAE Mz 20,000
Y= 22 221,304 156,200 65,104
201 LEt2AH| 100,620 91,720 8,900
01 AtR2teldl 29,820 23,520 6,300
20 & 29,820 23,520 6,300
OF&HAN == 29,820
ofd Y YR MEHSHHAL
455,000& #2241 12& 10,920
ootrEh skl 42dA =25
3,700,000& *13] 3,700
oAEHFHl WHIAN =2
2,600,000& *13] 2,600




SN ABHEEAIRIA
B GEALI SRS A (BY/NGAE - 23)
TPl BREDIZAIM 2 (SRS SHIH) (e e
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
coMsE2aAE HAHES) el 6,000
CAHNESEZTY| HEAA 242
4,600,000 *13] 4,600
oRY, 2E K WIHAAI =2 2,000
2 3324t 70,800 68,200 2,600
=0 A 70,800 68,200 2,600
O HelAlE X2l 38,000
oMRLIAT ME L X2l
4,750,000& x2CH*43] 38,000
OLETSESHAHI(TMS) fEeteH el
1,900,000 x12& 22,800
O£=Ze 22 10,000
206 M=H| 86,684 60,480 26,204
01 A28l 86,684 60,480 26,204
=0 A 86,684 60,480 26,204
OUER2H| 438,984
oRI|INEX SEH 3,828& %8,000kg 30,624
o 2I|DEX SEN 2042 *90,000kg 18,360
Ox&lts s3EH A28 2 16,000
OHAE 29MHE 2
350,000« 123 4,200
OBXHeIANE HIUE 2L
70,0002 x2500H 17,500
207 AN 10,000 4,000 6,000
03 A& 32H]| 10,000 4,000 6,000
S0 A 10,000 4,000 6,000
OAIE AT 10,000
oAl Al AlQF Q| 5,000
oAE A JIXM 2L 5,000
405 KRS S| 24,000 24,000
01 AL 2 EFHSHI 24,000 24,000
S0l A 24,000 24,000
OMSA! =2 & 17,000
OAEz I 2 7,000
L= 2aX2AIE HSA 906,000 715,000 191,000
= 634,000
J| 81,540
Al 190,460
401 Al&EHIL L0 906,000 715,000 191,000
= 634,000
J| 81,540
Al 190,460
01 Al&H]| 906,000 715,000 191,000
= 634,000
J| 81,540




SN ABHEEAIRIA
B GEALI SRS A (BY/NGAE - 23)
TPl BREDIZAIM 2 (SRS SHIH) (e e
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
Al 190,460
S0 A 906,000 715,000 191,000
= 634,000
J| 81,540
Al 190,460
OLs ELHelAlE HAIS 906,000
= 634,000
J| 81,540
Al 190,460
2©RAX 12 2 (BE/MotEE - =) 2,984,703 2,626,568 358,135
= 1,445,000
== 270,550
Al 1,269,153
ZASANMH (LR ELEIH) 2,984,703 2,626,568 358,135
= 1,445,000
& 270,550
Al 1,269, 153
A2 Gl EH| & ESEAY 302, 160 302, 160 0
401 Al&EHIZLL0HY| 302, 160 302, 160 0
01 Al&H] 300,000 300,000 0
S0 A 300,000 300,000 0
OATHE o2t H HH| & =LA 300,000
03 A& S0HYI 2,160 2,160 0
=0 A 2,160 2,160 0
OATHE oH=2tH HH| L LAY B
CH| 300,000,000& *0.72% 2,160
ol RAEx 315,224 3,888 311,336
202 04| 4,224 3,888 336
01 2yl 4,224 3,888 336
S0 A 4,224 3,888 336
Oft+E 2 +EN}e gexa
88,0003 *3H 22 x8 4,224
401 Al&EHIL 20| 311,000 311,000
01 Al&HI 311,000 0 311,000
=0 A 311,000 0 311,000
O220t=22 J|sitzdA 231,000
O Mol 2elHE E2d 60,000
OAZXSA BH=AH| JISEAL 20,000
Biz=&H| =2 A 2e2loie 20,000 15,000 5,000
401 Al&EHIL 200 20,000 15,000 5,000
01 Al&HI 20,000 15,000 5,000
=0 A 20,000 15,000 5,000
Oblilz=&H| AMZ2ZAF & OIJAX S22 A} 20,000
e Y LLHITE 22| 60,340 60,340 0




SA ABEEAIRIA
e R T CICE A PY=pe=)
Cigl: SREAINE(FEINE S5 (e e
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
201 LBt AY| 60,340 60,340
2 3524l 60,340 60,340
=0 A 60,340 60,340
OME(QL)EHIE M2
2,920,000& 128 35,040
ORLEDE M)IR= 150,000 = 12&! 1,800
OUNE (L) BHIA 44H|
1,000, 000& *230H A~ 23,000
ORFETH M| 500,000 =10 2 500
St=2AGI=EE83 29 X 3,900 3,700 200
201 LEL2AH| 3,900 3,700 200
02 =529t 3,900 3,700 200
=0 A 3,900 3,700 200
Ost=24t6t4==8 3| 3,900
MAEE2F Gl AEH| 1,918,000 2,153,000 A235,000
= 1,265,000
< 228,550
Al 424,450
401 Al&EHILL0HY| 1,918,000 2,153,000 A235,000
= 1,265,000
= 228,550
Al 424,450
01 Al&BI 1,918,000 2,101,000 A\ 183,000
= 1,265,000
== 228,550
Al 424,450
=20 A 1,918,000 2,101,000 A\ 183,000
= 1,265,000
& 228,550
Al 424,450
OHHEEF ot=2=2 & 1,918,000
= 1,265,000
== 228,550
Al 424450
olxE SR L QA2 AMEEA 8,500 8,500 0
207 AP IHEH] 8,500 8,500 0
01 932 s <l 8,500 8,500 0
=01 A 8,500 8,500 0
Obl=E S22 & J|oXES= Atd
g4 8,500
odlg18l 56,579 65,000 N\8,421
801 oid|dl 56,579 65,000 A\8,421
01 LBHHIHIbB] 56,579 65,000 N\8,421
=0 A 56,579 65,000 A\8,421




SA ABEEAIRIA
e R T CICE A PY=pe=)
Cigl: SREAINE(FEINE S5 (e e
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% MinEs)
| | Ouibl 56,579
SINM2E2F ot=2=E FHHIAIY 300,000 0 300,000
= 180,000
= 42,000
Al 78,000
401 Al&HILL0HY| 300,000 0 300,000
= 180,000
& 42,000
Al 78,000
01 AlEHI 300,000 0 300,000
= 180,000
& 42,000
Al 78,000
=0 A 300,000 0 300,000
= 180,000
o= 42,000
Al 78,000
O3IH2EF o2t ALY 300,000
== 180,000
== 42,000
Al 78,000
Y 2AAY|(ASHEEAFEA) (DIEHDIE}) 1,871,039 1,817,680 53,359
IHEASAHH|(=ZEIMHE SL3IH) 1,839,599 1,786,432 53,167
QlESAH|(=EIMEESESIH) 1,839,599 1,786,432 53,167
101 o12AH| 1,811,099 1,743,592 67,507
01 B2 1,165,032 1,086,537 98,495
=01 A 1,165,032 1,066,537 98,495
oJlE2 772,495
obzd 83,632
S= 4,340, 7002 x4H x 12& 208,354
o7z 3,681,900 6%~ 12& 265,097
Sy = 2,267,400 4P x 128 108,836
SYor= 1,959,500& x4« 12& 94,056
o XA H| 736,461,000 *1. 7% 12,520
(@FS Fa= 759,975,000 +1/12 63,332
OAlIZte 224 97,679
S=] 12,3213 x4 +67 A| 2Hx62%x 122 24,568
o7z 11, 130 62 *x67 A| 2H+62%* 128 33,289
o8z 9,992 x4H +67 A| 216 12 19,924
SYor= 9, 160& *4H 67 A| 2H+62%+ 12& 18,265
o XA H| 96,046,000 *1. 7% 1,633
(@P) == 11,760
o At 40,000 *10H =128 4,800




o % 0>
Ju 03 Ol
M0 Mo 4>

02 02 M
oY=
TER

IS

n
114
2
B
I
g
tol
2

S - HH . O9(3) - HISAY - BA= S S =2t
SEY/ PNE 20,0003 x5« 122 1,200
oc=MAtH 60,0003 x4+ 123 2,880
SIS PIES 20,0002 x 128+ 123 2,880

O&2=Y Jhtg 14,520
o250 & 130,000 7 Z*12& 10,920
=205 0]4F 25H0]2t 110,000 x1Hx12& 1,320
=15E0]4f 20 0] et 80,0003 x1H+12& %60
=10E0/&F 15E0(et 60,0002 x 1+ 122 720
o504 1040(2t 50,0003« 18+ 128 600

ORg=2f=g 50,0002 x19F 123 11,400

Olis3Rd=< 8,250
obg e 4,470,3002 #4. 1%+2G 128 4,399
o6z e 3,913,200 #4 . 1%+2H + 123 3,851

OSSR 47,880
oA 180,000 19+ 123 41,040
o EXK2RSE 30,0002 *19E x12& 6,840

OFAZ A 140,0002 198+ 123 31,920

OEEFIHI 688,863,000 +1/12+120% 68,887

OGItE Al 772,495,000%1/12%86%+1/30x 20X 36,909

02 JIEt& B 243,787 245,541
20/ & 243,787 245,541

OHJLE(ZH, 315 159,947
SRl 3,743,200 x2H + 128 89,837
SPSES Falsll 89,837,000& *1.7% 1,528
oz 89,837,000 *1/12%100% 7,487
oNNEsg 1,200

-t Xt 40,0002 =2« 128 960
-JIEDIE 20,0003« 18+ 128 240
odd=g 180,000 x2Z *12& 4,320
oflgsg 50,0003 x2H* 123 1,200
odI2sE Its 2,280
-25E0] & 130,000 x1Z*12& 1,560
-1040[&+ 15&=0(2¢ 60,0003 * 1+ 123 720
oFHZ A 140,000 x2% * 1284 3,360
oxZBxY| 155, 00021 +2% 122 3,720
o2l E=H| 50,0003 =2« 12& 1,200
o ZEFIHI 7,437,580 #60%*23] 8,926
oI &HH| 213,2103x20! 4,265
oAlZ2t2RE
10,2502 2B +67 Al 2++ 123 16,482
o2+
3, 5003 *2H +8BA| 2Hx 122 6,832
osd2RH 82,370 *15+80 6,590
oELXZ2RE 30,0003 x2H+ 12 720

iy
$
o
0




SN ABEEAIIA
M. HYES2AZH|(ABI=ZAIEA) (DIEHDIEH
crel: olA2ol|(+ENM SEa (el &
SN - B - S(BH) - MSA - BES s S HIRE2
OHJZE(Z AN, 2853) 83,840
oJlEg= 3,905,000 *1E+12& 46,860
o X IN&H| 46,860,000 *1.7% 797
oF¥zsxg 47,657,000 %1/12%100% 3,972
o&A+Y 180,0002 x 1Y+ 12& 2,160
oflgsg 50,0003 12+ 123 600
oHISY Jhtg 1,560
-25E0] & 130,0002 x 1+ 12& 1,560
o ZMZ A 140,000& x1H*12& 1,680
oA ZE X 155,000 x 1Y+ 12& 1,860
oH2IE S| 50,0003 *1Z 122 600
CHHEIH| 3,971, 41021 x60%6+23] 4,766
oot A 113,850 +202! 2,277
SNEICEE RS
11,2723« 1H+67 Al 2t 123 9,063
SEIEEPE
3, 7502 ¥ 1H«8A| 2Hx 122 3,660
ocxsYdRSH 90,6102 x 1540 3,625
ocEX2RY 30,0003« 19« 122 360
03 SRA(RIAHL) 22 XNES 402,280 431,514 AN29,234
204 & 402,280 431,514 A29,234
Ost&0IgHa 257,627
oJlg= 2,792, 7203 x4H*12& 134,051
cERURLH 90,0003 x4« 122 4,320
oAM= 70,000 x4B +12& 3,360
oR{MGt 60,0003 x4+ 123 2,880
ofEsg 60,000 x4B +12& 2,880
o HAZAY| 140,0002 x4H «x 12& 6,720
SRV ISEN:] 90,000 x4H 123 4,320
SRS NG 90,000& x4 12& 4,320
oItEg 3,120
~bH <Xt 40,0003 x4B +12& 1,920
-J|EHHE 20,0003 x5« 12& 1,200
o FAEF I 2,792, 7203 x60%*4 B x23| 13,406
&Y 2,79, 7203 *500%*4 X 23| 11,171
oxI2RSY 56,731
A2t 2R
26,8602 *4Z*20A| 2++ 128 25,786
-522fY 214,800 x3H 42U x 12 30,945
cHIRESFIIY
143, 7202 x4 H x 18 10,348
OEE2 Mol & A2 (STARA, 1
158) 53,355
oJlg=s 2,172,550 18+ 128 26,071
oz 2,172, 5503 x50%+ 1 23] 2,173
SE-FSE=w ] 2,172, 56503 +60%* 1% 23| 2,608




SN ABIREAYA
A HHRAHHI(AGtZ A A) (DIEHIIEH
Cisl: o122 bl (FENM SBE) (9l a8
SH - - SI(S) - MRMY - BYS s S blDE2t
oSR Y 50,0002 x 18~ 122 600
oM A 150,000 x1E+12& 1,800
oAZ 90,0003~ 1H 128 1,080
SE=EA =T 140,000 x1E* 123 1,680
S JtAIE 4| 80,0002 x1&+12& %0
oXBaH 110,000& x 12+ 128 1,320
ocilRERIIrg
112,9513x 1 %182 2,034
oAIRIZREE
21, 1783 1H*20A[ 2t 123 5,083
oFxdIRdE 165,5283 x 142+ 123 7,946
OFEAMZLE(HEERY, 10&83) 44,121
olles 2,142,1333 18+ 123 25,706
odI2=g 2,142, 1333 500+ 1H+23] 2,143
o HEFOHI 2,142, 1333 x60%+23! 2,571
oEXYRrY 50,0002 x1&8x12& 600
oXMAT A 150,0008 x1E* 123 1,800
oAZ Y 90,0002« 1H* 123 1,080
oFAZAH| 140,000 x 12+ 128 1,680
oI 24| 80,0003 x1&*12& %0
oXBg 110,000 x 12+ 12& 1,320
oIIESY 40,000« 18+ 123 480
ocilRrERtrg
11,6763 x 15182 2,011
cxq224Y
20,9303 x 1 *15A1 2t 123 3,770
OXIots 2 QAH|(HHEARH, 185
2) 47,177
olles 2,234, 7603« 1= 128 26,818
odI2=E 2,234, 7603 +50%+ 12 *223| 2,235
oHEFIH] 2,234, 7603 «60%+*23] 2,682
oSR Y 50,0002 x 18+ 128 600
oMU HASE 150,000 x1E*12& 1,800
o8 90,0003 1122 1,080
oFAZAH| 140,000 x 1« 123 1,680
o JtAIE 4| 80,0002 x 1+ 122 %0
oA 110,000 x1Z+12& 1,320
oIIESE 60,0002 x1&~ 122 720
cUNRBENLL
115,557 3 x 1+ 182 2,081
oA ZRE
21,6673 x1H*20A| 2t 123 5,201
04 M ASAY| 27,060 2,760 25,700
02 g2 27,060 32,760 A5, 700
=0l &t 27,060 32,760 25,700
OFSI= 1N 27,060




SN MGt AL
M. HYES2AZH|(ABI=ZAIEA) (DIEHDIEH
Ciel: ol 2ol (+E M SHEH (e e
S - BB BR(31) - NSAY - BES S SR b=
obzg 250,000& x 1« 12& 3,000
Sl 165,000 »4H = 12& 7,920
o732 155,0002 x4H « 12& 7,440
o893 145,000& *5H * 12& 8,700
34 AZIREIS 1,440 10,080 8,640
M B22A(RINHS)Z2 2N BEE28E=2 S 1,440 10,080 28,640
20 & 1,440 10,080 8,640
ORI TR AN EEE
120,000 *12& 1,440
Jl2dul(=2Id SE3H) 31,440 31,248 192
J12dE(=EINESESIAH) 31,440 31,248 192
201 dEt2AH| 24,680 24,200 480
01 AtR2teldl 24,680 24,200 480
20/ & 24,680 24,200 480
OFNM2Z JI2Z| 240,000 x12& 2,880
OMREE FU(SMA S
160,000 x12& 1,920
O#EHANLRID| ARE 22
240,000 =8 CH*23] 3,840
Os4dds 0182 35,0002 x12& 420
OF=)| gz 350,000 128 4,200
OZA| 8,000& x19H x5 » 12& 9,120
ORJIAHY 22Xt TI=H| 2,300
o2F 0|3 OISl 500,000& *4H 2,000
oHTARR Il 150,000 & x2H 300
202 O4H| %60 1,088 N128
01 =LHO4H] 960 1,088 A128
S0j &t %60 1,088 N128
OblaZ22 20l 20,0003 x 12 %43 960
203 SR F&| 4,600 4,760 A160
02 RIS RFEY| 1,000 1,160 A160
=0 A 1,000 1,160 A160
OFIta JRFEIY| 40,000 *25H 1,000
M EASIHRFA 3,600 3,600
=0 A 3,600 3,600
OFAN2Z gRFLY| 300,000 128 3,600
204 X RHAH| 1,200 1,200
01 MBS HR-HAY| 1,200 1,200
20i & 1,200 1,200
OAMZAHAR = AH| 1,200
obg 100,000 x 1 *12& 1,200
WSS (AGHETAIEA) (BHE/AGHEE - 2=3) 4,053,517 4,053,517
LHEHM (=2 SE3IH) 4,053,517 0 4,053,517
LHEAHAH K= 4,053,517 0 4,053,517




=N

M NHIRES(AOI-SAIL) (BE/A6E - +Z
el R (=EHE SE3H) (e
. . rol 1 2 0 L -
S - B S2(B) - NISAY - BAS S cR HIDS2
704 CIES2 4,053,517 4,053,517
01 HE3 4,053,517 4,053,517
20i & 4,053,517 4,053,517
OsSgMEctEeIZ HES 4,053,517




| K1/ Ol KIS RH2DOH )

Sl SEAZETS KA SERE
SN - EHB - S(SIH) - NIRA - (ggz::) @%%Lf;‘” =2
At 1,860,430 2,160, 100 N299,670
J| 660,430
Al 1,200,000
OIUXIKFR JHEY - B2 (A 2 1,860,430 2,160,100 AN299,670
X2 KK
| 660,430
Al 1,200,000
YHAFHI| A KA (S 1,860,430 2,160,100 N299,670
J| 660,430
Al 1,200,000
BEAFHI S DB HA 193,530 174,600 18,930
J| 193,530
201 LE2HH| 3,600 10,700 AT7,100
J| 3,600
02 S3294| 3,600 10,700 AT7,100
J| 3,600
=0l & 3,600 10,700 AT7,100
J| 3,600
OgEAFHIIEX 3,600
J| 3,600
206 ME4| 128,730 107,900 20,830
J| 128,730
01 MZ bl 128,730 107,900 20,830
J| 128,730
=0 &t 128,730 107,900 20,830
J| 128,730
OgdAFHIISX 128,730
J| 128,730
401 AIEHIYL L0 56,000 56,000 0
J| 56,000
01 Al&HI 56,000 56,000 0
J| 56,000
S0 A 56,000 56,000 0
J| 56,000
OYHAFHIIAXIAAMS OFS|EAIA
2 56,000
J| 56,000
405 RHAHE S| 5,200 0 5,200
J| 5,200
01 ML =SSF SHI 5,200 0 5,200
J| 5,200
=0l &t 5,200 0 5,200
J| 5,200
OgdAFHIIE X 5,200




S pelD
M HKXIRE e - 22322 (A - SADS L0 X /0l KT RFRIHE)
Crol: WAAZTUIN|O NRAI (LR AFHT S X ASE ) (cr9l: &g
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
| | | 5,200
SXAFHISE SEXNIAIS 466,900 1,785,500 A 1,318,600
J| 466,900
206 M=H| 366,900 905,500 538,600
J| 366,900
01 = 366,900 905,500 A\538,600
J| 366,900
S0 A 366,900 905,500 538,600
J| 366,900
OLHAFHIIS RIS AIE HZH| 366,900
J| 366,900
405 KHASRISHI 100,000 880,000 780,000
J| 100,000
01 ML EEFSHI 100,000 880,000 780,000
J| 100,000
S0 A 100,000 830,000 780,000
J| 100,000
OYEAFHIGAFAIYE 2372 100,000
J| 100,000
SXAFHIGAR OIEAIS 1,200,000 200,000 1,000,000
206 M=H| 550,000 150,000 400,000
01 =t 550,000 150,000 400,000
S0 A 550,000 150,000 400,000
OYEAFHIIGSRIRAIE TH=H| 550,000
401 Al&HILL0HY| 150,000 20,000 130,000
01 Al&HI 150,000 20,000 130,000
S0l A 150,000 20,000 130,000
OYEAFHIISRIRAIE AlAH| 150,000
405 KHAMSRISHI 500,000 30,000 470,000
01 AL 2 EFSHI 500,000 30,000 470,000
S0 A 500,000 30,000 470,000
OYNMAFHIIGRRAE SEXK 500,000




SA: HHD
Mz =AY XKHH R=(AY - SAILUNU X /AL ERE - DEF)
9l AT Bol @ 2% BASHNYXTES Y 22l SEaH) (e @2
s . bou 11 & 0 AbH _
S - BB O9(3) - NEAIY - BAS (g%%‘) 5(3@% HDE2
3H 11,957,939 3,051,300 8,906,639
= A KA RE(MY - SAD|LL X/ AHA R 1,702,923 3,014,410 A1,311,487
= =3})
CHX| 22| Y 29 SHGHAIAXIRTAL L 22 1,702,923 3,014,410 A1,311,487
315H)
S= - JIEKXEX 29 2 1,583,423 241,283 1,342,140
201 B2 AY| 192,072 73,783 118,289
01 AFR22tel| 30,472 29,240 1,232
=0 A 30,472 29,240 1,232
O=gsg & 2ddHI =2
5,000,000&*13] 5,000
O3S AIR2Al2te| J|23H|
500,000 x12& 6,000
Od - 20| Xz 60,0002 x20H*12& 1,440
OME & £6lEREH| X S 15,632
OR0IAHIAAE SXl2te]
100,000&*x2Jl A% 122 2,400
2 2=2=2494| 161,600 44 543 117,057
S0 A 161,600 44 543 117,057
Os24YHX] MIIea
2,500,000~ 12& 30,000
Os3MEHT] M348 AlIE2E
125,000 +20H* 12& 3,000
O30T 3 = HE
1,000,000 *x23| 2,000
O3=0I12Al48 A2 6,000
OSSR 2CIAIRA AlHANES 2}
JEXIAI 600,000 x1& 600
OSTEAMAH] Aot 2
10,000,000& = 12& 120,000
202 04| 3,168 5,000 A 1,832
01 2LHAH Y] 3,168 5,000 N 1,832
=20 A 3,168 5,000 1,832
Ob =29 2435 24
88, 000& *3H x2 2 x63| 3,168
206 MZH| 12,500 12,500
01 =4 12,500 12,500
20| A 12,500 12,500
Oz detzs Y 20,000 & 25004 5,000
Ot =2 sZ3 3| AHHT L
625,000 128 7,500
401 Al&EHIL 20| 1,375,683 150,000 1,225,683
01 Al&H] 1,375,683 150,000 1,225,683
20| A 1,375,683 150,000 1,225,683
OsZ2AACX A8 BHl & 24 150,000
OSEMHH] SI=EJTRES 1,225,683
oig1 81 119,500 2,773,127 A2,653,627
801 OllH|b| 119,500 2,773,127 A2,653,627




A M
M =AY XA RE=(MY - SAIHLUNUK/ALRE - DEF}
9l ARIEH Bel ¥ 2% BASH(NAXTES ¥ el S25)) (e e
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
01 Btalbidl 119,500 2,773,127 N2,653,627
=01 A 119,500 2,773,127 A2,653,627
Ol gl 119,500
SHMSAAHI(Z M) (DIEHDIE 338,309 36,890 1,419
QIASAH|(AFA X REA L 2| EEHZIAH) 38,309 36,890 1,419
olA29H| 38,309 36,890 1,419
101 21244H| 38,309 36,890 1,419
03 22X (RI|H L) 222 38,309 36,890 1,419
=0l & 38,309 36,890 1,419
OsZ2CHR 22 22X EX(HEZFARHA
95 =) 38,309
oJ|l2g2(9ss) 2,090, 160& 1 Hx6E 12,541
oJl2g(1022) 2,119,780 x1H«6E 12,719
o™M24E(18) 2,090, 1603 *1H %45% 91
o¥2LH(TH) 2,119,780 1 x50% 1,060
oHAMSIIH| (95 2)
2,090, 160& *13| *60% 1,255
o HAESIIHI(108 )
2,119, 780& *13| x60% 1,272
ocHIRSHEIITE 1,921
oMAAHALH 150,000& *1H *123] 1,800
o HHZAIH| 120,0002 x1H % 123] 1,440
oDl 150,000& *1H *123] 1,800
o X4 110,000& *1H *123] 1,320
cIIELH 20,0002+ 1H =128 240
MEESS(HAMD) (ALY - SAIHLAH R /A - SAD] 10,216,707 0 10,216,707
Aot
LHEHH(AS R REAL L 2| EH3|H|) 10,216,707 0 10,216,707
WEHHXIS (AU X7 RS 2 22| EESIH) 10,216,707 0 10,216,707
704 HE2 10,216,707 0 10,216,707
01 (&= 10,216,707 0 10,216,707
S0 A 10,216,707 0 10,216,707
OsSetMEtEZIZ2 HE=2 10,216,707




=N

HM: YASE MSOHE KR (ASI=K/ I ENSET)
Sol: JIZMEEIIZ 23(XE)I2 SHa) (el a2
S - HH . O9(3) - HISAY - BA= S SR HIDS2
SXE2 0 2,923,997 2,791,080 132,917
= 108,000
& 31,196
Al 2,784,801
NASE MEOHY XA (A=K =MEBE) 901,400 2,779,080 1,877,680
= 108,000
& 31,196
Al 762,204
IIZNEBRIIZ 2I(X&I|12 SE3IH) 47,500 1,939,500 1,892,000
SIZAEEEOIS 22 7 500 7,500 0
201 2er2 ] 6.500 6,500 0
01 AtR22teltl 6,500 6,500 0
=0l 6,500 6,500 0
OSTI2 HEN NaBe Hests 4,000
OSXE Z2IY Sxws
2,500,000 *13] 2,500
202 01 1,000 T.000
01 =LHOH] 1,000 1,000
=0l 1,000 1,000
OSTIZ HEX MM T
1,000, 0008 1,000
I=MESEIIZ 84t 40,000 40,000 0
501 X3 40,000 40,000 0
01 2I2tEX=2 40,000 40,000 0
20 & 40,000 40,000 0
OXE|g AIER2 Xt 40,000,000& 40,000
o220 XN (=Ea)|I22d S<galH) 853,900 839,580 14,320
= 108,000
& 31,196
Al 714,704
o 22002 SH(XHA) 693,900 685,660 8,240
308 AXIEHMSOIA 693,900 685,660 8,240
07 IS HZRES 693,900 635,660 8.240
204 & 693,900 685,660 8,240
OLzEBSAZH 2E3 692,000
ORABMBRTL P22 1,860
OnmENEE 2o 40
o230 F& 10,000 10,000 0
2 4,000
& 3,000
Al 3,000
201 Ler23d| 5,000 5,000 0
2 2,000




2AM:

=Eh
mu: HASE MEBOE NR(ABIEXJIFESEE)
©2: o230 NI (eEs)|=22Y SE3lH) (e
S - B S2(B) - NISAY - BAS S SR HIDS2
o= 1,500
Al 1,500
01 AtS2teltl 2,720 2,720 0
= 1,088
== 816
Al 816
201 & 2,720 2,720 0
= 1,088
& 816
Al 816
OARES #¢ 400
= 160
& 120
Al 120
Oo=30ME 2= 1,800
= 720
== 540
Al 540
Oo =320 AoAAS &Y
70,0003 x2H »23] 280
= 112
& 84
Al 84
O2dz=02elAt AR =S| 240
= 9%
& 72
Al 72
02 S=23| 2,280 2,280 0
= 912
= 684
Al 684
204 & 2,280 2,280 0
= 912
& 684
Al 684
OUAZ=0HS L8 2ERZE 2,280
= 912
o= 684
Al 684
202 04dl 5,000 5,000 0
= 2,000
& 1,500
Al 1,500
01 =W 5,000 5,000 0




FA =

St
mu: HASE MEBOE NR(ABIEXJIFESEE)
©2: o230 NI (eEs)|=22Y SE3lH) (e
S - B S2(B) - NISAY - BAS S SR HIDS2
= 2,000
& 1,500
Al 1,500
20i & 5,000 5,000 0
= 2,000
== 1,500
Al 1,500
O2dz2s0 2|2 Ed & ==Xt 22l 3,200
= 1,280
& %60
Al 9%60
Ooz=s0AIE 2 s &4 1,100
= 440
& 330
Al 330
OZAL R Atdfl 22| SEHI 700
= 280
== 210
Al 210
20 2 2z=3 4,000 2,760 1,240
= 3,200
& 560
Al 240
307 eIZ2tol ™ 4,000 2,760 1,240
= 3,200
& 560
Al 240
01 e 2=l 4,000 2,760 1,240
== 3,200
& 560
Al 240
20l & 4,000 2,760 1,240
= 3,200
= 560
Al 240
Oo=¢el 2Y 22 4,000
= 3,200
& 560
Al 240
QA L HOjel 2F7 2 K& 60,000 55,130 4,870
= 48,000
o= 8,400
Al 3,600




2 STEH
HM: HASES MEOHE X (AISEX /I ZMESE
Cigl: 2220 NA(ARLSII22Y SEH) (el me
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
307 21z2to|™ 60,000 55,130 4,870
= 48,000
& 8,400
Al 3,600
01 o 22L=H| 60,000 55,130 4,870
= 48,000
& 8,400
Al 3,600
=0 A 60,000 55,130 4,870
= 43,000
& 8,400
Al 3,600
ORH| & &HoHel 8&31 12 X 60,000
= 48,000
< 8,400
Al 3,600
=01 2 HAa= 3,100 3,010 90
= 2,480
& 430
Al 190
307 2120l ™ 3,100 3,010 90
= 2,480
== 430
Al 190
01 9|22 31=H| 3,100 3,010 90
= 2,480
== 430
Al 190
=20 A 3,100 3,010 90
= 2,480
o= 430
Al 190
Ol 2 Ba3 3,100
= 2,480
& 430
Al 190
AL M2 X H| 35,000 35,120 A 120
= 28,000
== 4,900
Al 2,100
307 2I1z2to|™ 35,000 35,120 A 120
= 28,000
& 4,900




2 STEH
HE: HASS MEHE XK (AISI=ZX] /I =MESE
Cigl: 2220 NA(ARLSII22Y SEH) (el me
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
Al 2,100
01 Q2L ZH| 35,000 35,120 A 120
= 28,000
& 4,900
Al 2,100
S0 A 35,000 35,120 A 120
= 28,000
== 4,900
Al 2,100
OAH2ZMESF XIH] 35,000
= 28,000
= 4,900
Al 2,100
Mo 2l220 AY 27,900 27,900 0
= 22,320
== 3,906
Al 1,674
301 LBIEBX = 27,900 27,900 0
== 22,320
== 3,906
Al 1,674
01 Al EZELHZ2(2DEXH) 27,900 27,900 0
= 22,320
== 3,906
Al 1,674
=0l A 27,900 27,900 0
= 22,320
& 3,906
Al 1,674
OMII 2220 ALY 27,900
= 22,320
& 3,906
Al 1,674
ZREE I =230 ALY 20,000 20,000 0
== 10,000
Al 10,000
201 LBt AY| 2,000 2,000 0
o= 1,000
Al 1,000
01 AF22telb] 2,000 2,000 0
== 1,000
Al 1,000
=20 A 2,000 2,000 0




A =SXEUD
M HASE MBOIE KW (AISI=X/JIZMEDE)
E2l: 9230 KN (2SI |I22Y EESAH) (& d
S - B S(B) - NIRAR - BHAS (ggj) @%%’Lﬁ‘” D=2
= 1,000
Al 1,000
OZJATE It 220 &4 2,000
< 1,000
Al 1,000
301 YBtE M= 18,000 18,000 0
& 9,000
Al 9,000
02 MSIBEE LG 2(FILHE, XLHS) 18,000 18,000 0
== 9,000
Al 9,000
=0l A 18,000 18,000 0
== 9,000
Al 9,000
OZJATE I 2220 MUlA X 8,000
& 4,000
Al 4,000
OLJEH MOt 2220 JIsELAY
K& 10,000
& 5,000
Al 5,000
MRES(SXHMY) (AS2X /)| ZHESDE) 2,022,597 12,000 2,010,597
LHEHH (K& |2 EE3IH) 2,010,597 0 2,010,597
LHEHeH KIS (a2 EE35H) 2,010,597 0 2,010,597
704 MIE= 2,010,597 0 2,010,597
01 K= 2,010,597 0 2,010,597
=0 A 2,010,597 0 2,010,597
OSBWIAFEIIZ Ki=t2 2,010,507
PHIE(22eSEH)(ARESII22Y S 12,000 12,000 0
)
BEIE(o285=45|H) 12,000 12,000 0
802 Btat=2D|Et 12,000 12,000 0
01 2DEXZbte= 10,000 10,000 0
S0 A 10,000 10,000 0
O=18XZ2 &eHAoH "t 10,000
02 Al - THIBXZ2EE2 2,000 2,000 0
S0 A 2,000 2,000 0
OZHIBXZ Y& dit 1,000
OIS Z2 etaz Bt 1,000




2AM:

I‘IiH:

S Al

OIHXIEA AN ELX AL/ XALTA

)

Sl D01 TAIHEAAE HUN(SAHEAZUXEA SE3H) (e &3
SA - B O9(SH) - NISAY - BES S S HI =2
S Al 367,520 702 366,818
OIXIESE AN (2ELX G/ XL Al) 180,007 702 179,305
101 E S TAIHEAIE HUI(SAIHEAEUR S 4 145,564 450 145,114
SH3IH)
ZII0IEH TAIHEANE B4 145,564 450 145,114
401 AlEBIZL20HYI 145,564 145,564
01 Al&HI 145,564 145,564
20/ & 145,564 145,564
OFII0IEE STAIHEAY =& F 140,000
O2&EE I+ 5,564
SADIBAIE EE(0IBIAIE SE3H) 34,443 252 34,191
IS REZ 29 34,443 0 34,443
1 AIEHIZ 01| 34,443 0 34,443
01 Al&H| 34,443 0 34,443
20l & 34,443 0 34,443
OJIBANERE 7S W AlE EHl 83 34,443
HPES(SAIUN(ZELXSIMY/RSLEAl) 187,513 0 187,513
HEHA(ZSAIHEALUXZ A SLHSIH) 153,443 0 153,443
LHEHNKIE (A HE ALK E& SESIH) 153,443 0 153,443
04 WEZ 153,443 0 153,443
10E3 153,443 0 153,443
=04 & 153,443 0 153,443
OSeMEctEs 2 HES 153,443
LIS HH(DIBFAIE SE3EIH) 34,070 0 34,070
LHEHH(DIBFAIE S-3IH) 34,070 0 34,070
04 HEZ 34,070 0 34,070
01 CIEt =3 34,070 0 34,070
201 & 34,070 0 34,070
OseMEctEs 2 HES 34,070




SN NSt
F8: (50 S8 N(DSVSF/USIE - SRSIIE)
Chel: FEX 2IHA(F=XHE 22l SL3IH) (e
SH - B S9(3H) - NRAY - BES S SR HIDS2
mE==x; 550,883 259,453 291,430
HELE S5 JIA(LSLEF/UNEWE - 2FSTIEY 550,883 259,453 291,430
FEI SsPid (=& SYlH) 105,704 217,952 A112,248
SYHFHI XEHH 105,704 217,952 112,248
201 et2AH| 63,304 60,552 2,752
01 AtS2teltl 29,640 29,640 0
=0 A 29,640 29,640 0
OAMEEXNA & HEHSDXA I
100,000 8 A 800
QULEMNEAE HFAIRII| 228 7
400,000 »2CH*23] 1,600
OSYFEIX SOUCHSAIAE S 2|
2,100,000& x12& 25,200
OIAAHFAAE RXE4H|
150,000 *12& 1,800
OJAAH % =28 20,0003 x12& 240
2 S32g4| 33,664 30,912 2,752
=0i & 33,664 30,912 2,752
OoRERI 1,200,000& *12& 14,400
OFZgsldz 65,0003 =140 12& 10,920
OFXUNHE 8,000 * 1471 » 122 1,344
O=48= - X foeEItet R
500,000 * 144 7,000
202 04| 2,400 2,400
01 2L 2,400 2,400
S0/ & 2,400 2,400
OuSKE HRFE(AUHSEY])
10,0002 %103 *12& »2H 2,400
401 AIEHIZL 0L 40,000 40,000
01 Al&HI 40,000 40,000
S0j &t 40,000 40,000
O=4 = - X+ &= CCTv &X 40,000
SY=IE 012 MBIA MA(FXHE22 SEIH) 445,179 41,501 403,678
SS=XE T4 2 439,725 24,925 414,800
201 Ler23d| 24,725 16,425 8,300
01 AtS2teltl 20,765 12,465 8,300
S04 & 20,765 12,465 8,300
OF&X nE&M ctli= ME 3,300
o8 50,0002 *109H A *43] 2,000
c=EEE2 NE 650,000 *23] 1,300
O3g=XE N4EHl dxtz 7,040
ocHIEH 550,000 *4 [ x2! 4,400
SELSE 660,000 *2CH x2 2,640
OSG=XE IFMA iz 9,000
OFxt2e|QE H2 & FF 1,425




SN DED
. zus 84 I (USYLER/UEUE - SFSIIE)
S 2EFIE 018 AMHIA MIO(FEXE22] SE3H) (Gt &
S - BB BR(31) - NSAY - BES S SR b=
oH2 22,0002 x25H *13] 550
SES 35,000& x25H*13] 875
02 2323l 3,90 3,960
S0 &t 3,960 3,960
OFUE =XII1E AAE POA S
16,5002 1291 2 *20CH 3,960
401 AIEHIZ2UIYI 415,000 8,500 406,500
01 Al&HI 415,000 8,500 406,500
20 & 415,000 8,500 406,500
OSG=XE EXE L Ad2 Fdl 15,000
o 0| SQHLHE 400,000 * 1074 2~ 4,000
oF=Xt& EX|E 200,000 * 15J4 A 3,000
oxit 2 100, 000& *309H A 3,000
o FXEA FH| 1,000,000 *5IH 2~ 5,000
ONBEE=XtE SR Me EX 0HY
400,000,000 14 2 400,000
(G:{ls1)s] 5,454 16,576 A11,122
801 ollglyl 5,454 16,576 A11,122
01 BHailbl bl 5,454 16,576 A11,122
204 & 5,454 16,576 A11,122
@]4;[s]}s]l 5,454
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2A: ASXE
M ZEH FHRSZE(ZELXGNL/XNGLTAl)
Ciel: ZEZS pel(FHAY SN (e e
. . rou 1 = 0 .
SH - B S9(3H) - NRAY - BES S cR HIDS2
OSsHIFRUUOHIE 2elal HAZH|
1,700 %8A| 2H+1052! 1,428
OEIKL0tIE AR 30,687
ocA=7AH| 1,000&*30,687m" 30,687
OSeIFALUOHIUE A=K 9,460
ocHZ2% Xl 2,000 *4,730m’ 9,460
OFH2XI0HIIE AMES X 4,666
o A2 2,000& *2,333m’ 4,666
202 04| 3,696 2,000 1,696
01 2] 3,696 2,000 1,696
204 & 3,696 2,000 1,696
OYUE HY w 24
88, 00021x224+63] 1,066
OBSFY pE B ¥ A543
88, 0002 +224+63] 1,056
OSEBDAUF AL
88,0003 *3H *63] 1,584
=0I=aEAZ 22 4,258 3,852 406
201 LEr23d| 3,202 3,152 50
01 AtS2teltl 3,202 3,152 50
204 & 3,202 3,152 50
Oogsad =8 3,000 #4AICH 12
O8X3 L X=28E =22
200,000-2 =1 MICH 200
Oska MHELE & FAGHAE
270,000 & *2KI CH 540
O=0I=8 X2 Z2 108 X122/l
2,450,000& 2,450
202 04| 1,056 700 356
01 2] 1,056 700 356
20i & 1,056 700 356
Osi=a dF2as =
88,0003 x2H »23| 352
Oski= &2 g9
88,0003 x2H »23| 352
OBNZ LN HR=
88,000 x2H »23| 352
H3EAIE=2HEEH 12,000 10,000 2,000
401 AIEHIL 20| 12,000 10,000 2,000
01 A&t 12,000 10,000 2,000
204 & 12,000 10,000 2,000
O=gZal ¥ SH2X0HIE &ED|et
dBH 6,000,000& *23] 12,000
SSFY FE DB M (FEAIY SE3H) 221,698 3,504,451 A3,282,753
ANGLU=E AlE&=2 | 211,440 201,440 10,000
401 AIEHIL 20| 211,440 201,440 10,000
01 A&t 210,000 200,000 10,000




A ASKEH
M. ZEHE FHRIIEH(ZELX SN/ KN SL A
9l ZEZFS FHOIE JIURA (FUAY SH3) (e e
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
S0l A 210,000 200,000 10,000
OANGAUN=e AlD= AHI(300 SHXI) 200,000
OANSAUOHIE 2t2ls AlIE= EH] 10,000
03 A& S 0HH| 1,440 1,440
=0 A 1,440 1,440
OAEAUTE AIES HU| 200
200,000,000 *0.72% 1,440
odlg18l 10,258 3,303,011 N3,292,753
801 Oil|H| 10,258 3,303,011 N3,292,753
01 Btalbidl 10,258 3,303,011 N3,292,753
S0 A 10,258 3,303,011 N3,292,753
(@t:]1s]1]s]] 10,258
S22 TEN HSIAIH (FEHAIY ELES|H|) 1,561,600 0 1,561,600
== 285,000
Al 1,276,600
SEE3UUFE HEAIY 1,561,600 0 1,561,600
& 285,000
Al 1,276,600
401 AlEHILL20H] 1,561,600 0 1,561,600
== 285,000
Al 1,276,600
01 Al&HI 1,556,000 0 1,556,000
& 285,000
Al 1,271,000
=01 A 1,556,000 0 1,556,000
= 285,000
Al 1,271,000
Ol A2 950,000
< 285,000
Al 665,000
OEX o b 606,000
03 Al 20HH| 5,600 0 5,600
=20 A 5,600 0 5,600
OAIZ£0hH]| 5,600
HMSALH| (AL S LS| H) (DIEHDIE 81,899 80,082 1,817
QlEASAHY| (ALY ELS|H) (ZHAIH ELFIAH) 81,899 80,082 1,817
CIHASAHY| (ALY EYBIH) 81,899 80,082 1,817
101 elAH| 81,899 80,082 1,817
03 222 (2I|HL) 2224 81,899 80,082 1,817
=0 A 81,899 80,082 1,817
OAgAZ=ezte] 22X E=(8&A
22 1252) 42,517
oJlEa 2,234, 7663« 12& 26,818
ol AL 2,234, 7663 *5%*23| 2,235




M ASTED
M. HH2IGU(FHAILSLSIAH) (DIEHIIEL
Cigl: olt2eibl(FRAlel SHaI) (RN S2si) (e e
SH - B S9(3H) - NRAY - BES S SR HIDS2
SE=FSE=9 ] 2,234, 7663 +60%*23| 2,682
cHitrEsI=Y 115,567 » 18 2,081
o A2t 2RY 21,6673 *3A 2+ 12& 781
oS4 RaY 50,0002 12& 600
oY 150,000 =123 1,800
SRR 90,000& 123 1,080
o HAEZAH| 140,000 *12& 1,680
o JMHIE &I 80,000& 123 9%60
oXRg 110,000« 12& 1,320
cItEsY 40,0003 =123 480
OFHAILSE3IH 22| 22X B(H
HARE, 1088) 39,382
oJll2g 2,119, 7813+ 12& 25,438
&I 2,119,781 *50%*23| 2,120
o HAEFIII 2,119, 7813 +60%*23] 2,544
cHitrEsI=Y
108,2623 »1H 18 1,949
oAt 2R 20,2993 x3A 2128 731
oY 150,000 =123 1,800
o ZMZAH| 140,000 x12& 1,680
oI 150,000 =123 1,800
XL 110,000« 12& 1,320
MNLES(ASXE L) (ZELX ML/ XNSLZA) 4,355,705 679,195 3,676,510
BHENE(FEHAY SE3H) 679,195 679,195 0
BAEXE(FEHAIY EL3H) 679,195 679,195 0
802 BrEt=2DIE} 679,195 679,195 0
03 J|ElEtEt= S 679,195 679,195 0
S0 &t 679,195 679,195 0
OSEgALUUOIINE dFESZ BHat
3,150,000& = 15AI CH 47,250
OELSH2X AIGOHIIE =853 8t
Bt 21,000,000 *5AI CH 105,000
OErlY LUOHIE UFEEZ Btat 526,945
oY (HF) 10, 154,000 & *5MI CH 50,770
CE(HE) 16,735,000 & *5AICH 83,675
o498 (X &t) 20,000,000 & «5AI CH 100,000
oRE (HEE) 23,500,000 *5A| CH 117,500
o508 (M &) 35,000,000 *5A1l CH 175,000
LHEHN (FEAIE SE3IH) 3,676,510 0 3,676,510
LHIEHNXIE (ALY SE3IH) 3,676,510 0 3,676,510
704 OIE S 3,676,510 0 3,676,510
01 o2 3,676,510 0 3,676,510
S04 & 3,676,510 0 3,676,510
OSEMECHESIIZ HEZ2 3,676,510




